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tionof a function of a riv.

·Recall:it r.v. Xtakes valuesaswith prob. Di, expectation ("mean"):

E(x) =Zxi Pi
· If g:R-R is function;g(x) =goXis arr.

thattakes values g(me) with prob. Pi ->
S* RRB

Elg(x)] =[g(xi)pi, e.g. FIXY=aR

VARIANCE
-

·How much Xdeviates from MzEX) ?

· Firstattempt:EDX-M1. Abs. value is inconvenient.

Thesquare isbetter:

iS

Elaineofxeeatmean")m=eI

Expand the square:

Va(x) =E(x2-2xx +e)
=E[xY - zu

+p (linearity(

↳petei
not the same A's
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Existentptivos2lossweasthe
Expected profit: #(X)

=3.0.8-2.0.2 =2%

E(XB] =5.0.6-20.4 =22% - a little better.

However, compare the risks:

E(X)=30.8 +220.2 =8

E(X,) =520.6 +220.4 =16,6
Pro
- Var(Xa) =8-2 =4;Var(X) =16.6-(2.2)=11.8

St. deviation:

wIXA =V4 =2; W(X,) =4.8 =3.

->typical return for
stock A: 2=2 %

stock B: 2.2 = 3,4 %

> Stock Ahas almostsame return withlen risk
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